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Answerall questions.
All questions carry equal marks
In this booklet, the questighs from
serial no. 01 to serial no.10(/are subject
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When both upper and lower limits are
included in the class intervals of a frequency
distribution, then such classes are known as

(A) IntervalClasses

(B) ExclusiveClasses

(C) InclusiveClasses

(D) ClassWidth
Fordatarepresentation, Squareisa
(A) SimplebarDiagram

(B) TwoDimensional Diagram

(C) Three Dimensional Diagram

(D) Cummulative Frequency Graph

Histo gram is suitable for the data presented
as

(A) Continuous frequency distribution
(B)  Discrete Frequency Distribution
(C) Individualseries

(D) Alltheabove

The sum of square of deviation of 'n'
observations is least when measured from

(A) Mode
(B) Mean
(C©) Medium

(D) Noneofthese

IfM,G and H represent the Arithmetic Mean,
Geometric mean and Harmonic mean
respectively for two positive numbers then
which one of the following is correct

A) MG
B) H2G
(C) Hx=M

(D) AlltheAbove
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Ifthe Harmonic mean of two numbers 'x'and 6.

'y'is 6. Ifx =4 thenyis

A 4
®) 8
© 10
®) 12
7. IfP=M;A + X then
(X - XY
(A) P>l
(B) P<1
© P=1
©) P=0

10.

The algebraic sum of deviations of 10
observations, measured from 15, is 7. Then

themeanis

A) 107

B) 105

©) 157

(D) 700

Histogram is useful to find

(A) Mode Graphically

(B) Median Graphically

(C) (@& (b)both

(D)  Neither (a)Nor (b)

For the probability distribution with pdf

f(x,0) = 0e™, x>0, 6>0 the values of mean

and variance arerespectively, _and___
A) 1/6,1/6°
B) 1/6,1/6
© o9
0,0
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11.

12.

13.

14.

Two fair dice are tossed once. The
probability, that the sum on the upper faces

of dice is greater than 7, is

(A) 5036
B) /36
©) 512
@) 12

For X, and X, to be Two random variables,
Var(a,X,-a,X,)=

(A)  aVar(X,)+a,Var(x,)+2Cov(a,X,,2,X,)

(B)  aVar(X)+a,Var(x) - 22,2,Cov(X,X,)

(C)  a’van(X)-a,'Var(x,)+2a,a,Cov(X,,X,)
D)  a'Var(X))+a,'Var(x,)-22,2,Cov(X,,)X,)

Correlation between two variables, 'X' and
"Y' is 0.65. Now after adding '2' to all the
values of X, the correlation co-efficient will
be ?

(A) Increased

(B) Decreased
(C) NoChange
(D) Noneoftheses

If second, third and fourth central moment in
a given frequency distribution are
respectively 16,64 and 818. What is the

shape of its frequency curve?

(A) Positively skewed and leptokurtic
(B)  Negatively Skewed and Mesokurtic
(C)  Negatively Skewed and Leptokurtic

(D) Symmetrical and Mesokurtic
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15.

16.

17.

18.

19.

IfQ,, Q, and Q, represent First, Second Third
Quartiles respectively then for a positively
skewed frequency curve, which of the

following statement is correct?

A Q+Q>2Q,

B) Q+Q<2qQ

© Q+Q>Q,

(D) Noneofthese

If class frequencies of two attributes A and B

hold the inequality (AB)(a) > (aB)AB),
then the coefficient of association is

Ay o0

(B) Anyvaluebetween-1and0

(C) AnyvaluebetweenOand 1

D) +1 |

If a constant 15 is subtracted from each of the

values of X, the regression coefficient X on
Y, will

(A) Reducebyl5
(B) Increaseby 15

(C) 1/15th of original regression
coefficient

(D) Noneofthese

If the observed values of 'x' and F'(x')' are
X 2 4 6 8

Fx) | 198 | 150 | 102 | 93

Then the first value of A’F(x)

A 37

® 37

© 39

D) -39

The Geometric mean and Arithmetic mean of
two numbers are respectively 6.0 and 6.5.
Then the number are

Q) 76
B) 85
(©) 94
©®) 103
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20.

21.

22.

23.

24

If two variables have the linear relationship
X+Y = 120, the correlation between them,
willbe

A -1
B) +1
© o

(D) Noneofthese

In a Psychological test administered on 100
students, the mean score of 150 and a
standard deviation of 20. If the z-score of a
student is 1.50, what was his score on the
test?

(A) 245
(B) 180
© 120
@) 30

The probability of all possible events in a
random experiment is:

(A)  AlwaysInfinity
(B)  AlwaysZero
(C) AlwaysOne
(D) Noneofthese

Chi - Square distribution is a particular case
of

(A) BetaDistribution

(B) Gamma Distribution
(C)  PoissonDistribution
(D) Binomial Distribution

The idea of posterior probability was given
by

(A) BlaisePascal

(B) Thomas Bayes

(C)  JamesBernoulli

(D)  CarlFriedrich Gauss
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25.

26.

27.

28.

29.

In tossing three coins simultaneously the
probability of getting at the most one head is

(A) 3/8
B) 7/8
© 12
D) 18

If a random variable X follows a Binomial
Distribution with parameters 'n' and 'p, i.e.
X~b(n,p) then the distribution of Y = (n-X)
is

A)  b@ml)
B) b(n,p)
© b9

(D)  Suchdistribution will not exist

With all usual notations, if X, and X, are two
independent variates which are distributed
according to N(u,o,) and N(u,o,’)
respectively. Then the distribution of (2X,-

5X,)is

(A)  NQu+5p,,20,+50,)
(B) NQu,-5u,20,-5¢,)
(C) NQ@u+5u,40,-250,")
D) NQCu,-5u,40,+256,)

A random variable X follows Uniform
Distribution and takes the values
8,11,12,17,19,21. The probability P(X<19)
is

(A) 56
B) 273
© 16
O) 13

Arandom variable X is distributed according
to pdf f(x)= e“% .The mean and
standard dev1at10n of the distribution are

respectively,
@A 179
®B) 718
© 3,7

(D) Noneofthese

28 - Statistics

25.

26.

27.

28.

29.

TH 91 ¥ &F foani = 3o, 99l ifus
T fat(Head) LRI ICE ]

(31) 3/8

(&) 7/8

@ 12

@) 18

IfE O Agfesh |X I=a o' AR p'H Ay
T fgaety foraRor 1 9o T €, i
X~bnp)NY=0-X)F&A____ T

(31)  bn,1)
()  b(n,p)
(/) bn,g)
(3) & famor i dad e

[t g SHaA & 99, A X 3K, @
A TR E I HAN: N(p,0, )R N, 0,)%
AR faafa § | ’R 2X,-5X,)®eeA__ ¥

(31) NQ@u+5p,20,+50,)
(&) NQu-5u,20,-56,)

(¥) NQu+5p,,40,-250,)
() NQu,-5u,,40,+256,)

& IRfF T X T GUH s H1 9o
+ T 3R 97 8,11,12,17,19,21 o T
P(X<19) ®t wiferan ¥

(31) 5/6
() 2/3
(| /6
() 1/3
TH wrcgm T TR & T
()= == e 5i— o AR sfed frar ST ¥
g4 &1 wieg T ww fagdd

(R) vHAPETE
P.T.O.



30.

31.

32.

33.

34.

If the Mean and Variance in a Binomial
Distribution are 6 and 2.16, then the
probability of successin a trial, is

(A) 0.80
(B) 064
(C) 040
D) 036

If X and Y are two independent standard
normal variates, then the standard deviation
of X*+Y?is

A) 1
® V2
© 2
D) 4

The relation between 'mean' and 'variance' in
Chi-Square distribution is

(A) Mean> Variance
(B) Mean<Variance
(C) Mean=Variance
(D) Mean>Variance

If arandom variable X ~ F (5,9) then its mean
valueis

Aa) 3
®B) 57
© s
®) 97

In a beta distribution of first kind with
parameter p and v, if p = v = 1, then the
distribution becomes -

(A) Gamma Distribution
(B)  Exponential Distribution
(C)  Uniform Distribution
(D)  Cauchy Distribution

28 - Statistics

30.

31

32.

33.

34.

s 6 T &Il a1 fgue ste & ey iR yuur
T AT 2.16 €, N Th TO&O T He Hi
T

(31) 0.80

() 0.64

(|) o0.40

(%) 0.36

FRX AR Y A aAs @aA /T, XY H
e fa=em ®

(31) 1

() 2

¥ 2

(X 4

e - o e § are’ 3iR fereor (&) !
EXICEELES

(31) WA > T

(F) #e" <qam

(9) Wy =98

(%) w2 JE

Ifs U@ agfe® X ~ F (5,9) Mg ared
AME

(31) 3
(/) s5/7
(|) 5/1
(X 977

Heitex p 3IR v & W WeH TR S e e

P.T.O.



35.

36.

37.

38.

39.

If two events A and B are such that if A 35.

occurs, B will necessarily occur. Then which

one of the following answer in correct?

(A) P(A)<P(B)
B) P(A)2P(B)
© PA)=P@®)
(D) Noneofthese

If the trend line, with origin 1975, is
Y=20.6+1.68X, the trend line, with origin
1971,is

(A) Y=206+6.72X

B) Y=13.88+1.68X

(C) Y=3461+1.68X

(D) Noneofthese
Powerofthetestisrelated to
(A) TypelError

(B) TypellError

(C)  TypelandII Errorsboth
(D)  Noneofthese

Whether a test in one-sided or two-sided
depends on

(A)  Alternative Hypothesis of the test
(B) Composite Hypothesis of the test
(C)  Null Hypothesis ofthe test

(D)  Simple Hypothesis of the test

Ifan estimator T,, of population parameter 0,

converges in probability to 0 as 'n' tends to
infinity, then itis said to be a(an)

(A)  Sufficient Estimator
(B) Efficient Estimator

(C)  Consistent Estimator
(D)  Unbiased Estimator
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40.  Factorization Theorem for sufficiency is
known as

(A) Rao-Balackwell Theorem
(B)  Crammer - Rao Theorem
(C) Chapman-Rabins Theorem
(D) Fisher-Neyman Theorem

41. For parameter 0, if T, and T, are two
estimators with the same variance o” and the
correlation p, then variance of (T,+T,)/2 is

@ o

B) po’
(© (1+p)c’/4
(D) (+p)c’2

42. IfX,X,.... X, be a random sample from a
population _21—1:e- *12%then the maximum
likelihood estimator of 0 is

(A) 2X/n
® IX'n
© Vzxm
©) V=X

43.  For the distribution having pdf f(x,0)=(1/8)e’
* x>0,0>0 the function XX/n, is
estimator of
(A)  Anunbiased, 1/0
(B)  Aconsistent, 1/6’
(C) Anunbiased, 0
(D) Aconsistent, 6’

44. A sample of 12 specimen is taken from a
normal distribution having mean 50 mg/cc.
The sample has a mean 64 mg/cc and
variance of 25 mg/cc’. A test for testing
hypothesisH :p=50Vs. H: :p#50is

(A) Z-Test
B) t-test
(C)  F-est

(D) o -test
28 - Statistics 11
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45.  With usual notations, the standard error of 45.
proportions difference (p,-p,), in two classes
under the hypothesis Hy: P,=P,, is:

[~ T 1
(A)  VPa(gt
~ 1 1
®) VrGr
Ar 11
© oy 7t )
p4: P49
D) &+

46.  Which ofthe following computer languageis  46.
not supported by the complier?
(A) BasicLanguage
(B) C-Language
(C)  Pascal Language
(D) Cobol Language

47.  Which of the following is a database 47.
application software?

(A) MS-Word
(B) MS-Excel
(C)  MS-Access
(D) Noneofthese
48.

48. A manufacturer claims that his product has
variance is 2.5. For testing the variance ofhis
product items, a sample of 18 items is drawn
which has variance is 3.3. Then value of
associated test-statistic is
(A) 23.76
(B) 13.64
(C) 046
(D) Noneofthese

28 - Statistics 12

W Hehe o WY, TReea Hy: P=P, &
3ieta <t &t § STTUA-HW (p,-p,) I AR
MF__ %

ORI

@ N rtm

@) iV

=) V(£},li+%)

e & 9 I @ Y A HURR g
afdas

(1) Sfge 9

(&) A

(W) Yol 9INT

(F) e I

AT IRN Y ST SIERT HRAI R ?
(1) TR

(F) T

(9) T g

() THABE T

T fmitan =1 graT € 5 e Seurg 1 fa=mor
2.5 %1 3T IS TG & T T &%
18 &gl 1 T Tfaaeist foran s & faem
JEI HIeg 3.3 B A« Hefua
Jrerur-yiaeeist s amE .

(31) 23.76
() 13.64

(q) o046

() A PE T

P.T.O.



49.

50.

51.

52.

53.

Which of the following type of estimators 49.

satisfies the invariance property?
(A)  Consistent estimator
(B)  Unbiased Estimator

(C) Efficient Estimator

(D)  Sufficient Estimator

50.
If there are 10 symbols of two types, equal in
number, the minimum Number of possible
'runs' is
@A 1
B) 3
<€ 5
51.
(D) Noneofthese
If the Index number for 1990 to the base 1980
is 250, the index number for 1980 to base
19901is :
A) 4
(B) 40
(C©) 400
(D) Noneofthese 52.
Link Relative Method is useful for removal
of in a time series analysis.
(A) Trend
(B)  Seasonal Variations
(C)  Cyclic Variations
(D)  Irregular Variations 53

Method of least square for determining the
trend isused when

(A) Trendisknown

(B)  Trendiscurvilinear only

(C) ThevalueYisnotafunction of timet
(D)  For future forecasting
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54, Factor reversal test permits the interchange 54.
of
(A) Baseperiod
(B)  Priceand Quality
(C) Weights
(D) Alltheabove
55.  The pricerelatives for three commodities are 55
125, 120 and 130 with their respective
weights 60,20 and 20. Then the consumer
priceindexis __
(A) 108.33%
(B) 125.00%
©) 95.00%
(D) Noneofthese 56.
56.  InPassche's Price Index number, the weights
are
(A)  Quantities of Current year
(B) Priceof Currentyear
(C)  Quantities of Base Year
None of these
®) 57.
57. The control limits, delimited by the
consumer, are known as
(A) Modified Control Limits
(B)  Natural Tolerance Limits
(C)  Specification Limits
(D) Noneofthese
58.
58.  In quality control process, the variation due
to assignable causes occurs due to
(A) NonRandom Causes
(B)  Defectiveraw material
(C) Both(a)and(b)
(D)  Neither(a)nor(b)
28 - Statistics 14
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59.

60.

61.

62.

63.

The population growth is mainly concerned

(A) Total number of births
(B)  Numberofmale births
(C)  Number of female births
(D) Noneofthese

The value of Net Reproduction
Rate(NRR)<1 refers to

(A) Increaseinpopulation
(B)  Reductions in population
(C) Nochangeinpopulation
(D) Noneofthese

If 1,3,5,7,9 be a simple random sample
without replacement, drawn from a
population of very large size, the standard

errorof samplemeanis
(A 16

B) 04

© 16

(D) Noneofthese

If 'n' units are selected from a population of
size'N', then its sampling fractionis ___

(A) Nnm

3B) I/N

©€) 1mn

D) oN

Which component of Time series associated
with following statement?

Statement: Price Hike in petroleum

product due to War.
(A) SecularTrend
(B)  Seasonal Variations
(C)  Cyclical Variations
(D) Random Variations
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64.

65.

66.

67.

68.

With the usual notation, the formula for
optimum sample size n, from the jth stratum
(7=1,2,3,....k) for fixed total sample size 'n' is

(A)  n;=nN;S/(XN;S?)

B) =N;S/Z;S)

(C) n;=nNS?/(XN;S?)

D) n=nNS/ZNS)

In Systematic Sampling the selection of

sample units is based on

(A)  Selectionof'n' contiguous units

(B)  Selection ofn equal-distant units

(C)  Selection from very first units

(D) Noneofthese

Sampling frame is a term used for

(A) alistofrandomnumbers

(B) alistofvoters

(C) a list of sampling units of a
population

(D) Noneoftheabove

A researcher reports an F-ratio with degrees
of freedom (3,36) for an experiment. How
many treatments were compared in this
experiment?

@A) 3
® 4

C) 36
™ 39

Which of the following principles of design
of experiment, are satisfied by Randomized
Block Design.

(A) Randomisation & Replication

(B) Replication and one way Local
Control

(C) Randomisation, Replication & two
way Local Control

(D) Noneofthese
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O GRaT B WY, HR 0’ & R
FHefiey e & 'R (=1,2,3, k)

T n, SRR h T ey AR

(31)  n,=nNS/EN;S?)

() n=NS/ZS)

(W) n,=nNSH/ENS?)

) nN;S/(N;S)

after e # wfaeyi-gwEal &1 99
.............. R AR

(31) ‘o' TR gl ST

)

()

T SiYehdl Tk & foQ Wasar &1 wifea
(3,36) = Q1Y F 319 fe@man ® | 59 warT A
fha I SRR H I I TR 2

(31) 3

() 4

(|) 36

R 39

gfese =il FEsE 511 WanT &t §=l &
EE IR PAGRT AR S

(3 agfesma ik ufrsgfa

(%) wiosfa sk warta feso

(W) wgfawt, wfamfa R =
FrE= (to be corrected)
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69.

70.

71

72

There is a Randomized Block Design of 4
Block and 7 Treatments. If one of the
observation is missing in block number-2,
then the degrees of freedom, to test the
significance of variation between the block -
means, will be

A 2

B) 3

© 4

D) 26

Which of the following statement is

incorrect?

(A)  Uniformity trails are performed to
find the homogeneity level in
experimental material.

(B) Itis notpossible to apply Analysis of
Variance method when observations
are not following the normal
distribution.

(C) A Latin Square Design (LSD) of
order 2X2 is not possible to construct

(D) Noneofthese

The degrees of freedom for x* -Statistic, in
case of a contingency table of order 3X2, is

A 2
B 3
© 5
D) 6

For a design of experiment, comparing two
treatment conditions with 10 observations
per treatment, the F-ratio would have

degrees of freedom.
A 220

(B) 18,19

© 1,18

D) 1,19
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() TRIARRTE
3X2 & WEY &I hSH aferehl & T

(F)

(F)

() 3
(") s
() 6

3 Ir=R fafadl =t g & fag, W@+
fireregeT ®, ¥ ST=R 10 9H W), F- A4
FHIEAAAT R coevornene i

(3) 2,20
(=)
(7)
()

18,19
1,18
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73 If a positively skewed distribution has a 73.

median of 50, which of the following
statement is true?

(A) Meanis greater than 50
(B) Modeislessthan 50
(C) Both(a)and(b)

(D) Neither(a)nor(b) 74.

74 In a randomized block design (RBD) with 6
treatment and S5 blocks, the degree of
freedom of error sum of square will be

@A 7

®) 19

© 12

(D) 20 75.

75 An arrangement of m treatment in m rows
and m columns, in such a way that each
treatment occurs once and in each row and
each column, is called

(A) CRD

(B) LSD

(©) RBD

(D) Noneoftheabove 26
76. If A, B and C are any three mutually

exclusive events and if P(B)=(3/2)P(A) and

P(C)=(1/2).P(A) thenP(A)is

A) 173

B) 1/4

<o 213

D) 3/4

77.

77.  ForXtobearandom variableand'a'and'db' to

be the constants, the value of E(aX+b) is

(A) aX+b

(B) aEX)

€) aEX)+b

(D) NoneofThese
28 - Statistics 18

IfE T YT ST 9 1 AR50 ®,
freAfafer i AR T AT TR ?

(1) AR IYHR
(9) EEARSOVHAT
(@) (@O

(@) (23RO

6 STER 3R 5 Al WY TF AG S TISH
fipea #, I B ol & 7+ W

(3 7
(= 19

(") 12

() 20

m UfFal 3R m FIe9 § m I99R & TH
ey, Tl 39 TE o € % 7% SR
Y hiaw 3R ye Ui § shael T 9

(]) TRARET

g A, B 3R C 1 WRER =7 21T § 3iK
P(B)=(3/2)P(A) 3R P(C) = (1/2). P(A) @
P(A)®

(s1) 1/3
(&) /4
() 2/3
(X) 3/4

T & fau t& agfss X aar 2 9
oo B WE(@X+b) FIAM ..o ®

() aX+b
() aEX)
(") aEX)+b

() TRAIARETE
P.T.O.



78.

79.

80.

81.

82.

83.

Number of children born alive per 1000
women of child bearing age in a given year
and region is

(A) Total Fertility rate

(B)  General fertility Rate

(C)  Age Specific Fertility Rate
(D) Noneofthese

Bias of an estimator can be

(A) Positive

(B) Negative

(C)  Eitherpositive ornegative
(D) Alwayszero

Mean Squared Error (MSE) of an estimator
T, of isexpressed as

(A)  Bias+Var(T)
(B) Bias-Var(T,}
(©) (Bias)’+Var(T)
(D)  (Bias)y'+[Var(T,)]

If odd ordered central moments, in a given
distribution, are all 'zero', then the
distribution is

(A) Symmetric

(B)  Positively Skewed

(C) Positively Skewed and leptokurtic
(D)  Negatively Skewed and mesokurtic

If X, Y and Z are three independent random
variables each having mean '0' and
Var(X+Y+Z)=3 then

(A) Var(X)=Var(Y)=Var(Z)
(B) EX)=E(Y)=E(Z)-1
(C) E[X+Y+Z)]=3

(D) Allarecorrect

Number of possible simple random samples,
of size 2 out of a population of size 5, without
replacement are

A 7

B) 10
() 25
®) 32
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(¥) IEHFNETSEAI
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(3) TRIARRTEI

(7)) TAWIYHA

T A T, T AT I JfE (MSE) H
........... w4 o fRarsars

(31) Bias+Var(T)

(¥) Bias-Var(T,)’

(9) (Bias)'+Var(T,)

() (Bias)'+[Var(T)]

Ifg fEw gu szt & wit foromr it 1 9MA
RATETA e BTy

(1) wHfa

(F) yeHe forit

(|) oA fawHa 3 3= ggeitdea
(T) HUTHS faoa g g gyt
Ak X, Y 3R z dF @ agfes = €
A 0" 3R Var(X+Y+2Z)=3 19
(31)  Var(X)=Var(Y)=Var(Z)

(3) EX)E(Y)=E(Z)~1

(¥) E[X+Y+Z)]=3

(7)) wdtrwdrd

5B Y, 2 % IR TR, fer wfeearaT &
wWa agfes e wefa g’ ww
yfeee I E&A ..o . 3

31 7
() 10
(| 25
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84.

85.

86.

87.

88.

89

Which of the following is correct for a

leptokutic curve

A)  B,>3

B) 1,<0

© B>0

D >0

For a given five values 15,24,18,33,42 the

three year moving averages are

(A) 19,2233

B) 19,2531

© 1930,31

(D) NoneofThese

The MS-DOSisa

(A)  Time sharing operating system

(B)  Singleuser Operating System

(C)  Distributed Operating System

(D)  Application Software

The purpose of X- chart is to determine

whether there hasbeen a

(A)  GainorLoss inuniformity

(B)  Change in the percent defective in a
sample

(C)  Change in the central tendency of the
process output

(D)  Change in the number of defects in a
sample

Which of the following is a control chart for

attributes?

(A) R-Chart

(B) o-Chart

(©) c-Chart

(D) Alltheabove

The data taken from government official

website will be considered as

(A)  PrimaryData

(B)  Secondary Data

(C)  Either(a)or(b)

(D)  Noneofthese
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e § A SR W S8 gygEieed g% & fag
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(31 B,>3
() y,<0
(|) B,>0
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(31) 19,2233

(|) 19,2531

() 1930,31
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90.

91.

92.

93.

The error due to faulty planning of sample 90.

sample surveyis known as
(A)  Sampling Error

(B)  Compiling Error
(C)  Non-Sampling Error
(D) Noneofthese

Random sampling is also referred as

9.
Sampling.
(A) Restricted
B) Subjective
(C)  Probability
(D) Noneofthese
Which of the following statement in NOT
correct? 92.
(A) Sampling Error may present both in
the census and the sample surveys.
(B) A sample is less expensive than the
census.
(C)  Non Sampling Error may occur both
in the census and the sample surveys.
(D) Sampling Error usually decreases
with the increase in sample size.
With usual notation of Life Table, which of
the following is correct? 93.
A) p=LJLL

B) Le(tLa)x
(C) Both(a)and(b)

(D)  Noneof(a)and (b)
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94.

9s.

96.

97.

The variance of sample mean, in case of 94.

Simple Random Sample with replacement

and without replacement are V, and V,

respectively. IfC=V,/V, then

(a) C=0
®) cCz21
€ c<l
™ C=

If a simple random sample, of size 4 is drawn
from a finite population of size 48 then the
value of 'Finite Population Correction' factor

is

Aa 12

B) 112

© 1112

(D) Noneofthese

A stratified random sample of size 32 is
drawn from three strata of sizes 20, 40 and
100. The sample drawn from each strata,
using proportional allocation, are
respectively

(A 48,20

B) 6,10,16

©) 1/4,1/8,1/20
(D) Noneofthese

In paasche's Price Index Number, the
weights are

(A)  Quantities of Current year
(B)  Pricesof Current year

(©)  Quantities of Base Year
(D) Noneofthese
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98.

99.

100.

The control limits, delimited by the

consumer, are known as

(A) Modified Control Limits
(B)  Natural Tolerance Limits
(C)  Specification Limits
(D) NoneofThese

If X is a Poisson variate such that
P(X=0)=1/3, then the Var(X) is equal to

Ay 2¢

®) ¢
© 13
(D) log3

If G, is Geometric mean of group of nl

observation and G, is Geometric mean of 100.

another group of n2 observations, then the
Geometric mean combined group is-

@ GMGH™
® (GG
© (G GH)™
@ (GG
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